

ABC Bid Data

DERRY-LONDONDERRY 13065E

X-A005(210)

PROJECT: DERRY-LONDONDERRY

STATE PROJECT NUMBER: 13065E

FED. PROJECT NUMBER: X-A005(210)

DATE BIDS OPEN: June 29, 2023, 2:00

SCOPE OF WORK: I-93 Exit 4A, Building Demolitions for construction of Exit 4A.

COMPLETION DATE: April 12, 2024 LOCATION: Rockingham

Awarded To: SPEARS BROS BUILDING

Award Date:

SALVAGE & WRECKING INC

PO BOX 818

LACONIA, NH 03247-0818

Amount: \$294,700.00 Certified by: WILLIAM.J.OLDENBURG

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
SPEARS BROS BUILDING SALVAGE & WRECKING INC	\$294,700.00	Α
PO BOX 818, LACONIA NH 03247-0818		
RITTER AND PARATORE CONTRACTING INC	\$397,000.00	В
2435 STATE ROUTE 5, UTICA NY 13502		



ABC Bid Data

DERRY-LONDONDERRY 13065E X-A005(210)

					ı	PS&E	SPEARS BROS BUILDING SALVAGE & WRECKING INC PO BOX 818 LACONIA, NH 03247-0818		2435 STA	ORE CONTRACTING INC ITE ROUTE 5 , NY 13502
Ite	m No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

201.881	INVASIVE SPECIES CONTROL TYPE I	SY	160.00	\$4.00	\$640.00	\$3.00	\$480.00	\$3.00	\$480.00
202.201	DEMOLISHING BUILDINGS	U	1.00	\$86,950.00	\$86,950.00	\$61,700.00	\$61,700.00	\$79,000.00	\$79,000.00
202.202	DEMOLISHING BUILDINGS	U	1.00	\$143,540.00	\$143,540.00	\$73,200.00	\$73,200.00	\$112,000.00	\$112,000.00
202.203	DEMOLISHING BUILDINGS	U	1.00	\$54,860.00	\$54,860.00	\$64,800.00	\$64,800.00	\$104,555.00	\$104,555.00
202.302	BUILDING ASBESTOS ABATEMENT	U	1.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$200.00	\$200.00
202.303	BUILDING ASBESTOS ABATEMENT	U	1.00	\$12,000.00	\$12,000.00	\$13,500.00	\$13,500.00	\$12,000.00	\$12,000.00
203.1	COMMON EXCAVATION	CY	160.00	\$17.50	\$2,800.00	\$20.00	\$3,200.00	\$21.00	\$3,360.00
618.7	FLAGGERS	HR	400.00	\$45.00	\$18,000.00	\$15.00	\$6,000.00	\$45.00	\$18,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$8,000.00	\$8,000.00	\$3,500.00	\$3,500.00	\$4,700.00	\$4,700.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,500.00	\$5.50	\$8,250.00	\$5.00	\$7,500.00	\$5.00	\$7,500.00
645.531	SILT FENCE	LF	1,500.00	\$3.50	\$5,250.00	\$3.00	\$4,500.00	\$3.00	\$4,500.00
646.3	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	Α	1.40	\$4,000.00	\$5,600.00	\$3,500.00	\$4,900.00	\$12,075.00	\$16,905.00
647.1	нимиѕ	CY	650.00	\$28.00	\$18,200.00	\$24.00	\$15,600.00	\$22.00	\$14,300.00
692.	MOBILIZATION	U	1.00	\$30,000.00	\$30,000.00	\$29,220.00	\$29,220.00	\$14,000.00	\$14,000.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$3,000.00	\$3,000.00	\$2,100.00	\$2,100.00	\$2,500.00	\$2,500.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00

 Totals:
 \$401,090.00
 \$294,700.00
 \$397,000.00

 Alt. Totals:
 Totals:
 \$294,700.00
 \$397,000.00



PS&E Comparison

DERRY-LONDONDERRY 13065E X-A005(210)

Item No.			Quantity	A-Bidder		PS8	ŖΕ		
	Description	Unit		Unit Price	Total	Unit Price	Total	A-PS&E Difference	
Items									
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	160.00	\$3.00	\$480.00	\$4.00	\$640.00	(\$160.00)	
202.201	DEMOLISHING BUILDINGS	U	1.00	\$61,700.00	\$61,700.00	\$86,950.00	\$86,950.00	(\$25,250.00)	
202.202	DEMOLISHING BUILDINGS	U	1.00	\$73,200.00	\$73,200.00	\$143,540.00	\$143,540.00	(\$70,340.00)	
202.203	DEMOLISHING BUILDINGS	U	1.00	\$64,800.00	\$64,800.00	\$54,860.00	\$54,860.00	\$9,940.00	
202.302	BUILDING ASBESTOS ABATEMENT	U	1.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$500.00	
202.303	BUILDING ASBESTOS ABATEMENT	U	1.00	\$13,500.00	\$13,500.00	\$12,000.00	\$12,000.00	\$1,500.00	
203.1	COMMON EXCAVATION	CY	160.00	\$20.00	\$3,200.00	\$17.50	\$2,800.00	\$400.00	
618.7	FLAGGERS	HR	400.00	\$15.00	\$6,000.00	\$45.00	\$18,000.00	(\$12,000.00)	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$3,500.00	\$3,500.00	\$8,000.00	\$8,000.00	(\$4,500.00)	
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,500.00	\$5.00	\$7,500.00	\$5.50	\$8,250.00	(\$750.00)	
645.531	SILT FENCE	LF	1,500.00	\$3.00	\$4,500.00	\$3.50	\$5,250.00	(\$750.00)	
646.3	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	А	1.40	\$3,500.00	\$4,900.00	\$4,000.00	\$5,600.00	(\$700.00)	
647.1	HUMUS	CY	650.00	\$24.00	\$15,600.00	\$28.00	\$18,200.00	(\$2,600.00)	
692.	MOBILIZATION	U	1.00	\$29,220.00	\$29,220.00	\$30,000.00	\$30,000.00	(\$780.00)	



PS&E Comparison

DERRY-LONDONDERRY 13065E X-A005(210)

				A-Bidder		PS8		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$2,100.00	\$2,100.00	\$3,000.00	\$3,000.00	(\$900.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$0.00

Total: \$294,700.00 \$401,090.00 (\$106,390.00)

Thursday, July 13, 2023 Page 4 of 4